AN

> H n N 5 n 08020100 HANSAVARIO - Corpo incasso

EAN: 4015474596351
static.hansa.com/08020100

Parti di ricambio
SP08020100
Nome Codice

3 Screw, M5x65 Cromo 59904847
41 Screw, M6x9.5 59901609
6 Cartuccia termostatica 59906401
6.1 0-ring, d 27x2 59901532
6.2 Screw, Méx4 59901027
6.3 Cartuccia termostatica, G1/2 59901640
7 Valvola antiriflusso 59901610
8.1 0-ring, 35x2.5 59905020
82 Screw, M6x9.5 59901609
9 Screw, M6 59901641
10 Tappo, G1/2 59905013

© 2024 Hansa Armaturen GmbH - www.hansa.com - 22.09.2023


https://static.hansa.com/08020100

